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1. Simplify 2f +5f
2. Complete these

(i) Simplify —2w+9w = ... 3 ) w w w w w w w
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(i) Simplify —4w + 6w = ...

Similar but different scaffold pairs for:
(a) Simplify 9w — 2w
(b) Simplify 2w — 9w

(c) Simplify —9w + 2w
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. Simplify p+p+p+p
4. Simplify —4n — 5n

5. (a) Simplify 9y — 5y
(b) Simplify by — 9y
(c) Simplify —5y + 9y

(d) Simplify —9y + 5y
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(a) Simplify 7z — x
(b) Simplify f+ f+ f+5f
7. Simplify —4p — ¢+ 5p — ¢

8. Simplify 2y —2 — 6y + 7
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. Simplify 7Ta +2b—3 —3a — 7

10. (a) Simplify 3a* — 5a°

(b) Simplify —3zy — bzy
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